ooooodn?2d

gb-00b0o0ooobooo1ov7obooboobooboon

gbbooboooobooboooooboooooboooobooooobooboooooboooboon
gbooooboooobobooobooboobooooboaooo
gboooooooooooobobooooobooogooo

ogoodnd p= y—mg+u
goooo p= (504’51(]4’1}

p,q0000000w,v000000000000000E(u)=E(w)=00Var(u)=o02,Var(v)=o02,

Cov(u,v) =00000 0000000000000 (pi,qi), i=1,2,---,n000000000p00
0000O0¢0000000000000 p;=8+5¢+¢00000000000000000O

))Jo0ooooooo (pq)O00OOO0OODO
i)0000000(p;,q;) DO0OO0O0ODOOO0O0OOOODO0ODOOOOOOOOOOODODOOO

ooo
iii)DDDDDDDBO,BlljDDDDI]DDDDDDDDDDDDDDDDDDDDDDDDDDDD

ivy 0000000000 v,»w000000000000000000000000O00O0O0O0O
gbooooboooooobooog

U0zyOOODODODOODOODOODOODOODOODOOODOOO
y=p0r+u

000000000000 w0 E(u)=0000002z0000000000000E(uz)=46000
06=000200000000000000000000000@MO00Var(z)=020000z0
000000000000000 20000E(z) =0, Var(z) =02, Cov(z,z) = 0,, 00u0000
00000 E?z)=c20000000000000000000 (y1,21,21), -+ » (Uns Tn, 20) 00
ooooooo

)0O0O0O00000 800000 Bors 000000000000 0plimpBors—A000000
0oOoooo0O0ooO

gogboobdrn=100000000000000

100 100

=10 , >z =10,

=1 i=1
100 100 100
i=1 i=1 i=1

100 100 100

Yoyi=120 , S z2=200, Y a? =80,
i=1 i=1 i—1

0ooooooo
i) 0 OLSO OO Bors 0000000

ii)000000000p=100000000000000000:0«00000000O0OCO0O
good



iv) A0 IVOOO By 0000000

v)20 «00000000000Hausman 000000000000000000000000?2
000000OLS00000000000000 ;=9 —fors00062=1%" 420000
ooQ

HPO http://www.nishiyama.kier.kyoto-u.ac.jp/jyugyo2019.html0 0 0 data20 000000000
gooooOoOoOoOoOoOOOOODOOODODOOOOOOOOOOO0OOOO0O0O0O0OOOOOOOO

0000000000000000 (yu,a), i =1,2,---,100, t =1,20 00000
Yit = o + By + €y

0000z 00000 4, 0000 id0OD0O0O0O0Oe; 00000 4,¢t00000000000O
X:{int}i:L.."loo,t:LQDa:{Oéi}i:17...7100|:]DDDE(Q’tIO&,X)ZOD Var(eit|a,X):02DDD|:|
000000000 data2(excel) 0000000000000000 gy, i =1,2,---,100, ¢ = 1,20
00000 2y, i=1,2,---,100, t=1,200000000
() DooOooooOooooooo aiDDDDDDDDDDDDDDDDDDDDDDDDBOLS
gooooooboo
Yit = &+ Bri + €4

(i) 000000000000 000000000 f00000000 AFFooooooon
(iii) AP 00000000 DODOO
(ivy0000 8=000000000000000000

00000 probit 0O OOOODDO

o 1, a+61’1+6120
vi= 0, a+fBx;+e<0

0000 ele; ~#dN(0,1)0000N(0,1) 000000 &) 0000

() D000 E(yle;) 0000000

(ii) w; =y; — F(y;lz;) 0000 Var(w|z;) 0000000

(i) 000000000000 (a,4)i=1,2,---,n0000000000y =ag+ a1z; +v; O
gogbooobuodoboboobtooonoobtypoboobboobbobboobboboboobooo
000 1/y/Ver(x)DOOOD0O00O0O0O0OOOOOOOOOOOO0OOOOOOOO0OODOOOOOOOm

0 Odata2(excel) 00D ODO00O0D000ARM)OOD v = ap + a1ye—1 + w0 uy ~ i.i.d.(0, 02
go0oooooooooonono

() 00000000000

() 00000 4,7 =0,1,23400000000

(i) 000000 pj,j=1,23400000000

(iv) a0, 000DD OO0

(v) 200000000

(vi) 101,902,103 000000000000

000000 o00Ooo AR(2)OOO

Ye = O1Ye—1 + P22 + Uy

000000000 ~iid(0,02)0000

() 0000000« 00000000000E(ky,)0000000

(i) 0000000 DOy, yee1, Ye—2s Ye—3, 14« 0000000000000000;, j=0,1,2,3,4
ooooooo

(i) AR(2) 00 0000000000000000000 p.300000000000



